
Shreyas My Dnayanmrut 
Topic Wise Weekly Package 

Std. Scholarship Exam 
5 For Paper 1 &2 

Topic Wise T260 
* Useful for examinations every week 
*Each question has a different look 
* Answers with an explanation of a dificult 
questions. 

*A set of 28 question papers 14 each for 
Mathematics and Intelligence Test. 

* Neat and attractive script 
* Includes all types of questions. 
* Checklist to see the answers to 

the questions. 
*Answer sheet for writing answers. 



Tamso ma /yotirgamaya 

Editor - Mrs. Suvidha Mahesh Jagalpure 
'Shivkrupa Nivas,' Apparao Chowk, 

01) f4T -

Office No. 23, Mob: 9834042488, 8605126047 
Sub. Units :- Marathi : Third Language 

02) gs 
1) 3:ft 

1) yett IA 

03) -

O Intelligence Test : Series 

04) Tft 

My Dnyanamrut 

1) jya 

1) r 
05) fra 

1) rft 

Shreya's 

Degloor Road, Udgir Dist. Latur 

06) T -
1) reft 

Weekly 

07) 1) gfaat 

Lang. & Intel. 

farareff 

Figures 

2) 

2) t 

2) TT 

2) THf 

2) Hdst 

2) frferg 

2) yT 

Numbers 

Symbols 

Set-3 

3) yra 

3) got 

3) fasrT 

3) ¿T 

3) rfeTR 

3) jT 

3) gT 

We all are eager 
to achieve success 

My Dnyanamrut have 
to fulfil this wish 

Std. (5th 
Scholarship Exam 

Set - 03 
16th-31t August 

4) y<r 

4) er 

4) at A� 

4) AIGG 

4) t 

4) uft 

4) 4gT 
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08) 

09) 

10) 

12) 

15) 
16) 

13) sge 
1) q0Nt 

17) 

14) H. 

19) 

1) rerfft 

20) 

1) GIqR 

21) 

1) prh 

22) 

1) sqUeuT 

1) 4 

18) 1) 

1) HrT x 

1) qxt 
1) tt x fAetft 

1) HX 

1) igex iqe 
1) 3TX 4HIGR 

1) arg 

1) THt 

Lang. & Intel. 

2) qif 

2) AT4G 

2) a14T 

2) qeH 

2) yrArfUrs 

2) arge 

2) fajur 

2) qut X YIdlo 

2) sfra x HG 

2) T X 7 
2) q45 X HG 

2) ax 
2) T* x fags 
2) ig x ity 

2) 

2) 

3T Xx fT 

2) gEX qta 

2) HrqT 

Set- 3 

3) tT 
3) 34T4 

3) ArT 

3) Art 

3) 44 

3) fargre 

3) gftaR 

3) X HIAGIT 

3) TTX qrt 

3) Rax e 
3) T5T X H4GT 

3) FT X AAgT 

3) a3 X 4S 

3) 3<TR x YTGTT 

3) fTET 

3) Ar 

4) fry 
4) q9Ê 
4) it 

4) d 

4) THTUT 

4) 34 

4) gfr 

4) HRsX HT 

4) HT X MA 

4) HGY X 34T 

4) TX 0G 

4) TtX t 
4) HaTT X 44T 

4) ia X y0dat 
4) t X att 

4) 5HT4 

3) fe x qTRATfs 4) TaY Xx TVT 

4) ATA 
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Q. Find the number which replaces the question mark ? 

26) 6, 12, 20, 30, 42, ? 

27) 

1) 60 

6, 13, 22, 33, ? 
1) 48 

28) 17, 26, 37, 50, ? 

1) 56 

29) 0, 3, 8, 15, 24, ? 
1) 48 

30) 4, 6,9, 13.5,? 
1) 20.00 

31) 17, 19, 23,? 
1) 27 

32) 900, 841, 784, ? 

1) 729 

33) 5, 7, 10, 14, 19, ? 

1) 24 

34) 90, 89, 87, 84, ? 

1) 78 

35) 2,6, 12, ? 
1) 22 

36) 2, 6, 12, 20, 30,? 
1) 42 

Intelligence 

Lang. & Intel. 

2) 58 

2) 50 

2) 65 

2) 36 

2) 20.5 

2) 29 

2) 615 

2) 26 

2) 72 

2) 24 

2) 47 

Set -3 

3) 56 

3) 46 

3) 82 

3) 37 

3) 20.25 

3) 31 

3) 441 

3) 25 

3) 80 

3) 18 

3) 45 

4) 64 

4) 60 

4) 63 

4) 35 

4) 19.50 

4) 37 

4) 500 

4) 27 

4) 82 

4) 20 

4) 40 
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37) 1, 8, 27, 64, ? 

38) 3, 5, 9, 17, 33,? 

1) 81 

39) 37, 73, 84, 48, 85, ? 
1) 57 

1) 65 

40) 2, 4, 8, 16, 15,? 
1) 26 

41) 12, 15, 21, 24, 30, ? 
1) 25 

42) 1, 3, 10, 15, 21, ? 
1) 30 

46) 

47) 

2) 125 

43) 3-5, 5-7, 11-13, 17-19, ? 
1) 29-31 2) 31-27 

1) 86 

1) 

2) 64 

44) 7, 14, 21, 28, 35, 42, ? 
1) 48 

2) 52 

W 

2) 20 

45) 9, 11, 14, 19, 26, 37, 50, 67, ? 

Lang. & Intel. 

2) 36 

2) 28 

2) 56 

2) 84 

3) 95 

Set- 3 

3) 44 

3) 58 

3) 28 

3) 33 

3) 27 

3) 41-47 

3) 49 

3) 87 

4) 120 

3) 

4) 49 

4) 68 

46- 60: Select the correct option to replace the question figure : 

4) 30 

4) 37 

4) 31 

4) 57-61 

4) 43 

4) 81 
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48) 

49) 

50) 

51) 

52) 

53) 

1) 

1) O 

1) 

1) 

1) 

Lang. & Intel. 

2) 

2) 

2 

2) 

2) 

9 

? 

Set-3 

? 

3) 

3) 

3) 

3) 3 

3) 

? 

4) 

4) 

4) 

4) 

4) 

Page (5 ) 



54) 

55) 

56) 

57) 

58) 

59) 

1) 

1) 

1) 

1) 

1) 

1) 

Lang. & Intel. 

2) 

2) 

2) 

2) 

2) 

2) 

2) 

oA 

, ? 9 

? 

Set -3 

3) 

3) 

3) 

3) 

3) 

3) 

3) 

’0 

4) o* 

4) 

4) 

4) 

4) 

4) 

4) 
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60) 

1) 

63) 

61) AB, ABB, ACCC, ADDDD,? 

61-75: Select the group of symbol that will occur the place of question mark? 

65) 

1) ADDDE 

67) 

1)AO 
62) AD.oAo. ? 

3) 0OA 

1) 

2) 

1) *AOD 

-

2) ADDEEE 

1) OA 

? 

Lang. & Intel. 

2) 

64) OAO. 0*OA: AoO 

3) 

3) AEEEEE 

2) AO 

2)OA 

66) OAD.AOD. OA0.? 

2) ++A 

4) Jo A 

1)A 2)A3)OAA 

Set - 3 

3) 

2) *DAO 3) Ao 
A,? 

AO 

3) AoI 

3) tA 

4) 

4) AABBEE 

4) 

? 

4) A*o 

4) 

4)>tA 
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68) 

69) 

70) 

72) 

73) 

74) 

1) 

75) 

1) 

1) OFt 
71) AO+,+FAO,5AOt? 

1) *O 

1) 

1) 

1) 

2) 

O.).... 

Lang. & Intel. 

2) 

2) 

2)+FAO 
*,***,? 

2) 

)) 

2) 

2) 

,? 

2) 

? 

,? 

,? 

? 

Set -3 

3) )) 

3 

3) 

3) 

3) t5to 4)OtfO 

3) 

3) 

4) (0 

3) 

4) 

4) *o * 

4) 

4) 

4) 
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Tamso ma jyotirgamaya 

01) 

02) 

Editor- Mrs. Suvidha Mahesh Jagalpure 
'Shivkrupa Nivas,'Apparao Chowk, 

Degloor Road, Udgir Dist. Latur 
Office No. 23, Mob:9834042488, 8605126047 

Sub. Units :- Marathi : Third Language 

03) 

04) 

MY Dnyanamrut 

1) tetztft 

IntelligenceTest: Series 

1) H4Tt 

1) 33T 

1) arffa 

05) qaatey -

Shreya's 

3) qt HdGT 
06) zfrvreft -

Weekly 

Lang. & Intel. 

Logical Reasonins 

2) H0ART 

2) r<T 

2) GITTT 

2) qrfe 

1) zfrurÁT RUrt 
3) zfuRHR AT 3THdf 

Wrong terms 
" Age 

Set - 4 

3) Aafztt 

3) rF 

3) R 

3) TfET 

2) rft rHeteT 

We all are eager 

4) ràt Há 

to achieve success 

My Dnyanamrut have 
to fulfil this wish 

Relationship 
Symbols 

Std. (5tn 
Scholarship Exanm 

Set -04 
1st -16th September 

Other 

4) jytyE 

4) Heter 

4) tar 

4) 4rf# 

2) aftuHRT Yr Hft 
4) afrUTHRG S0à rreteft 
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07) gjy 

3) yR faor frqTI 

08) 4far 

09) 

1) frrafs 

1) g11 
11) ast alqRT -

1) AraI 

12) Tfta tE 
1) 9T 

13) 1) eTèyeit t3 
3) AYT HUrT 

2) 

15) 1) Hrqy taUT 

16) 1) rut rUTRT 

14) 1) qizu�rrfT (yraST -

3) TRTatr varat - TGTG 

3) T feeturT 

3) q 3 YEUt - 1gt 

17) GTA tUT? 

1) farzfar 
18) ft? 

1) farriaT 

2) Aft 

Lang. & Intel. 

2) rfa 

2) 47 

2) HrUHÈTT 

2) 

Set - 4 

2) yAZ ATI yd 
4) ftAr fay fHfaurT 

4) atarAT T TUrT 

3) raya 

3) starr 

3) rg4T 

3) tst 

2) arrt TT URT 

4) 4rturt 

4) qar 

3) qertat 

4) TE 

4) quíuqT 31ett HUT 

3) arerd 

4) T 

4) teAr fbUTRT HIHTGATT ATRT 

4) qy Tqq HGT - ufy 
2) eT HTUTRT -

4) Htar 

4) 4T9T0ft 
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I. 19à 21 :u aT qufu-raà ada aT. 

19) G faeiat - , HETGIAT-? 
1) 1fpT 

20) yetar -3, AÀ T0qd 

21) TRiat-d4, TH TTUvuiet-? 
2) T 1) o 

22) 1) JATHt -js 

23) 1) HTT - T 

1) oft 

1) #T 

29) 

24) ytertt rqzets HAGT TZ UGT ? 
2) ziT 

26) 9, 16, 64, 49, 81 
1) 9 

2) aT 

. 22 A 23 :ysterrft qgsfE Nrt qtft tt rerVTRT qefu fragt Tuts -HTT 

27) 1,8, 27, 125, 225 
1) 125 

1) 45 

2) TATt -àz 

1) 196 

2) aisT 

28) 81, 27, 45, 72, 90, 98 

Lang. & Intel. 

-? 

2) Ar0aT - jaT 3) qeiT - ftog 

2) 49 

Intelligence 
Select the wrong words term in the given series. 

2) 225 

2, 9, 28, 65, 169, 126 
1) 169 

2) 72 

2) 65 

30) 943, 484, 916, 196, 565, 478 

3) o 

3) tot 

2) 478 

3) gs* 

Set - 4 

3) jrft-ziT 

3) get 

3) fiTE 

3) 81 

3) 27 

3) 90 

3) 126 

4) T 

3) 565 

4) gst 

4) yas 

4) aarafar 

4) afT- cOY 

4) ft 

4) GTst 

4) 64 

4) 8 

4) 98 

4) 28 

4) 916 

-
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31) 133, 482, 7213, 441, 5102, 4113 
1) 5102 

32) 462, 451, 9134, 7114, 6127 
1) 462 

34) 36, 92, 42, 69, 66 
1) 66 

33) 97, 47, 41, 25, 29, 19 
1) 25 

36) 7, 13, 19, 29, 31 
1) 31 

37) 

35) 422, 725, 844, 972, 726 
1) 844 

2) 441 

1) 

2) 9134 

1) 37 

2) 29 

2 4 6 5 25 4 

1) 25 

2) 69 

79' 10'711 2' 10 

2) 972 

1) 16 

2) 13 

Lang. & Intel. 

38) 10, 17, 26, 37, 50, 63, 82 

2) 
4 

10 

39) 1, 9, 25, 49, 81, 100, 121 
2) 81 

2) 82 

3) 4113 

2) 20 

Set - 4 

3) 7114 

3) 41 

3) 42 

3) 726 

3) 19 

3) 5 

3) 63 

3) 100 

3) 24 

4) 482 

3) 14 

4) 6127 

4) 47 

4) 36 

4) 422 

40) Raju is three times Suraj's age. After 3 years Suraj will be 11 years old. 
What is Raju's age today ? 
1) 25 2) 8 

4) 29 

4) 
4 

9 

41) The total age of Rama and Shyama is 36 years. Shyama is younger than 
Rama by 4 years. Find out Rama's age ? 

4) 17 

4) 121 

4) 27 

4) 24 
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42) 

43) 

Ahamad is younger than Keshav by 4 years. When the sum of their ages 
is 42 years, what will be the Keshav's age ? 
1) 19 

48) 

1) 12 

The total age of Nitin and Sumit is 25 years today. After 5 years Nitin's age 
will be 15 years old. How much old will be Sumit at that time ? 
1) 30 

than Meena ? 

44) Ravi's mother is four times Ravi's age. 2 years back, she was 38 years old. 
What is Ravi's age now ? 

1) 13 

1) 16 

1) 26 

2) 23 

45) Meena and Seema have the difference of 2 years in their age. After 5 years, 
their total age will be 30 years. What is Seema's age today who is elder 

1) 6 

2) 10 

1) 13 

2) 11 

1) 7 

3) 21 

46) Geeta is younger than her father by 18 years. When their total will be 46 
years. what will Geeta's age then? 

2) 14 

51) Shankar's age is 

3) 25 

Lang. & Intel. 

2) 2 

3) 8 

47) The total age of Shyama and Rama is 60 years, 8 years back, Shyam was 
18 years old. What is Rama's age today ? 

2) 34 

3) 9 

2) 6 

3) 18 

Reema is 20 years old today and Suman is of 22 years old. What will be 
the difference in their ages after 4 years ? 

Set - 4 

4) 25 

3) 28 

4) 20 

3) 4 

4) 14 

49) Ramnath was 7 years old , 5 years ago What will be his age after six years ? 
2) 18 3) 11 

4) 15 

3) 8 

mother is 44 years. Find out Shankar's age ? 

4) 12 

50) The total age of father and son will be 53 years, after 5 years. Father was 
27 years old before 5 years, what will be age of son, then ? 

4) 32 

4) 10 

4) 14 

of his mother's age. The total age of Shankar and his 

4) 5 
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1) 24 

52) Kavita uses to say paternal aunt to Anita's mother. How is Kavita's father 
related to Anita ? 

57) 

1) brother 

58) 

59) 

a 90°? 

1) 6 0' clock 

53) At what time does the minute hand and the hour hand in a clock appear in 

1) 4 

2) 11 

does his uncle have ? 

2) Uncle 

54) Anil has four paternal uncles. out of them one is Ravi. How many brothers 

2) 90' clock 

Whose photo is that ? 

1) 80 

1) son of Dinesh 2) Dinesh 

2) 3 

1) Nephew 

55) Pointing towards Photo Dinesh said, his father is lonely son of my mother. 

1) 38 

Lang. & Intel. 

3) 33 

3). brother of Dinesh 4) none of these 

56) Saw. Radhika has two sons and a daughter. Out of her two sons one is 
married and he has a son. How many members are there in that family ? 
1) 8 2) 6 3) 7 

2) 60 

3) father 

2) brother 

3) 5 0' clock 

Ramrao's age equals the sum of his two grandsons ages. The average 
age of these three persons is 40 years. How old is Ramrao ? 

2) Aunt 

3) 5 

2) 36 

4) 12 

Set - 4 

4) grandfather 

3) 40 

'A' is mother of 'B'. But 'B' is not daughter of 'A', What is relation of 'B' with 
'A'? 

4) 4 O' clock 

3) Son 

4) 6 

3) daughter 

Mother of 'B' is mother-in-law of A's mother. What mother of A relates with 
mother of 'B' ? 
1) niece 

3) 45 

4) 9 

4) 48 

60) 9 countries participates in Football wurld cup. How many total matches 
will be there if each team plays once with another ? 

4) uncle 

4) daughter-in-law 

4) 41 
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61) A thread is cut into four pieces at first. Further each one is cut into three 

pieces, how many pieces will be there ? 

1) 18 

1) 11 

62) If the total distance is one kilometre, how many trees should be planted 

on both sides of road at a distance of 100 m. each ? 

66) 

1) 10 

1) Fox 

63) With the help of 11 thread knots, a circle is to be made, how many mini 

mum knots should be there ? 

2) 9 

then who bears mane ? 

1) Samosa 

2) 20 

1) Nut 

2) 9 

64) If lion is called tiger, tiger is called fox, Fox is called ox, Ox is called cow, 

1) G 

2) Lion 

1) Y 

Lang. & Intel. 

2) Jilebi 

3) 12 

65) Jilebi is called Khara, Khara is called Bhaji. Bhaji is called Puri, Puri is 

called Pedha, Pedha is called Samosa, then which of the following is made 

up of milk ? 

2) MangO 

3) 22 

2) C 

3) 11 

3) Tiger 

There are 10 more Mango tree than cashew's tree, in a garden. 6 more nut 

trees are there than mango trees 9 less lemon trees are there than mango 

trees. Which trees are the least in number ? 

2) C 

Set - 4 

4) 15 

3) Khara 

4) 24 

3) Cashew 

67) 6 ducklings are there in the house of 'A'.4 more ducklings are there in the 

house of 'B, than the house of 'A'.6 less ducklings are there in the house 

of'C' than that of the 'A'. In the house of 'G' there are 2 less ducklings than 

'A' who among the following has the most ducklings ? 

4) 8 

3) A 

4) Cow 

3) D 

4) Bhaji 

68) In an audotirum ribbions are arranged Red, Blue, Pink, Green, Yellow in 

this order repeatedly. The ribbion of which colour will occur at 93h place ? 

4) Yellow 1) Pink 2) Blue 3) Red 

69) IfA+B = C, D+E = F. G+H= |, C+| =Y then H+A+G+B =? 

4) Lemon 

4) B 

4) H 
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70) In a square shaped ground, a boy is stood up on each vertices first. Then 
some boys stood up in such a manner that strength of boys will be 7 on 
one side. How many boys will be there on that ground ? 

71) 

73) 

74) 

1) 24 

75) 

1) 28 

A boy is stood on each vertices of a triangular shaped playground first. 
Then some boys stood up in such a manner that the strength of boys will 

be 6 on one side. How many total boys will be there ? 
1) 20 

72) 8 People make handshakes with each other on a stage. How many total 
hand shakes they will make ? 

2) 30 

1) 2000 

2) 26 

1) 1 

2) 16 

1) 11 

Lang. & Intel. 

2) 2001 

3) 27 

If the total distance is 5 kilometre, how many trees should be planted on 
the both sides of road at a distance of 5 metre each ? 

2) 2 

3) 15 

2) 12 

3) 26 

Set -4 

32 participants participated in a chess competition. How many participants 
will be eliminated after 4 rounds ? 

4) 32 

3) 2002 

4) 21 

3) 30 

4) 24 

There isa thread of 60 cm. How many times it has to cut to get each piece 
of 5 cm. ? 

3) 13 

4) 1001 

4) 24 

4) 10 
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Order Now 
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